CALIFORNIA STATE UNIVERSITY, HAYWARD

DEPARTMENT OF STATISTICS

Statistics 3601 Introductory Statistics for Scientists and Engineers

Homework #3 
Additional Problems:

Suppose an auto manufacturer receives large deliveries of seat belt buckles every Monday from Producer I and Thursday from Producer II.  The manufacturer takes independent random samples of buckles of size n = 50 from each delivery.  If the probability a buckle is defective from Producer I is 0.05 and from Producer II is 0.03, simulate the probability that we see less than 5 defective buckles in a week’s delivery.  The manufacturer considers less than 5 defectives as the acceptable number of defectives in a week.  


Let X = the number of defective buckles from Producer I in 50 on Monday and let Y = the number of defective buckles from Producer II in 50 on Thursday.  The N = X + Y = the number of defective buckles in a week from 100 sampled.  Simulate the probability that we see less than 5 defectives in a week, i.e., simulate 
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Run your program several times where Reps is the number of weeks simulated.  Use Reps 1000 and 10000.  Comment on how likely it is for a week’s delivery to be acceptable.
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